CS 225
Reading Questions for Section 5.2
Due 2-21-13, 10 AM
Please read Section 5.2 (BFS, DFS) and respond to the following.
Use the graph I will call "G1.9 " shown on p.32, Figure 1.9 in answering #1-4.

1. As was done in Figure 5.5, show the traversal stack for DFS(G1.9).

2. As was done in Figure 5.5, show the DFS forest for DFS(G1.9).

3. As was done in Figure 5.6, show the traversal queue for BFS(G1.9).

4. As was done in Figure 5.6, show the BFS forest for BFS(G1.9).

5. I want to write a minimum-length-path algorithm.  Given a connected graph G and vertices x, y in V(G), the algorithm should return a shortest-length path from x to y in G.  Should I prefer DFS or BFS?  Or would both of them work fine for this?
6. I want to write connectivity algorithm.  Given a graph G, the algorithm should return true iff G is a connected graph.  Should I prefer DFS or BFS?  Or would both of them work fine for this?

7. I want to write a cycle-detecting algorithm.  Given a graph G, the algorithm should return true iff acyclic (has no cycles).  Should I prefer DFS or BFS?  Or would both of them work fine for this?

